### EXAMINATION DEPARTMENT

Reference: EXAM / SPADHI / BITIC / PATNA / BE-EE-SIXTH / SP/16 2015-2016

By the order of Examination committee, the following is the result of BE-EE - SIXTH Semester held in the month of MAY-2016

Date : 5-JUN-2016 SESSION: 2015-2016 CLASS : BE-EE BRANCH ENGINEERING SEMESTER / TRIMESTER SIXTH MONTH OF EXAM MAY-2016 EE6201(3) EE6203(3) EE6205(4) MSH1117(3) EE6202(2) EE6208(2) EE6210(2) TOTAL CREDIT TOTAL ROLL NO NAME SGPA REMARKS POINTS CREDITS PT. GR GR. GR. GR. GR. PT. GR. PT. PT. GR. PT. PT. PT. PT. GR. 24.0 27.0 16.0 Α В 18.0 Α 32.0 A+Α Α 16.0 Α 16.0 149.0 BE/15005/13 AYUSH ANSUMAN 19.0 7.84 В 18.0 C 15.0 C 20.0 B+21.0 Α 16.0 C 10.0 В 12.0 BE/15007/13 SUMIT KUMAR 112.0 19.0 5.89 24.0 18.0 18.0 14.0 14.0 Α В B+28.0 Α 24.0 A+ B+B+BE/15009/13 DARSHANA 140.0 19.0 7.37 27.0 24.0 21.0 14.0 14.0 A+ В 18.0 В B+ A+ 18.0 B+ B+ BE/15026/13 TARA SWARAJ 136.0 19.0 7.16 24.0 B+ 21.0 27.0 18.0 18.0 Α B+28.0 A+A+ Α 16.0 A+\_ BE/15032/13 KUSHAL ADITY 152.0 19.0 8.00 27.0 A+В 18.0 Α 32.0 B+21.0 A+18.0 A+18.0 Α 16.0 BE/15037/13 PRIYANKA KUMARI 150.0 19.0 7.89 24.0 B+21.0 32.0 18.0 18.0 Α Α B+ 21.0 A+ 18.0 A+ A+ BE/15053/13 KRRITIKA R PATEL 152.0 19.0 8.00 24.0 В 18.0 В 24.0 21.0 18.0 18.0 20.0 Α B+ A+ A+Ex BE/15080/13 PRIYANSHU RAJ 143.0 19.0 7.53 24.0 Α В 18.0 В 24.0 24.0 A+ 18.0 В 12.0 B+ 14.0 Α \_ BE/15086/13 SUNNY KUMAR 134.0 19.0 7.05 21.0 B+ В 18.0 В 24.0 Α 24.0 Ex 20.0 A+18.0 Ex 20.0 BE/15101/13 KUMAR NITIN 145.0 19.0 7.63 21.0 B+ В 18.0 B+28.0 Α 24.0 Α 16.0 B+14.0 Α 16.0 BE/15107/13 PRASOON 137.0 19.0 7.21 24.0 24.0 32.0 24.0 18.0 18.0 16.0 Α Α Α Α A+ A+Α

EE6201(3)	: CONTROL THEORY	-	:
EE6203(3)	: POWER SYSTEM - II	-	:
EE6205(4)	: INDUSTRIAL DRIVES & CONTROL	-	:
MSH1117(3)	: FINANCIAL MANAGEMENT	-	:
EE6202(2)	: CONTROL SYSTEM LAB	-	:
EE6208(2)	: COMPUTER AIDED MACHINE DESIGN	-	:
EE6210(2)	: ELECTRICAL WORKSHOP	-	:

BE/15108/13

PIYUSH KUMAR

19.0

8.21

156.0

Controller of Examinations

Disclaimer

: Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Disclaimer Original Grade card will be issued by the institute in due time.

### EXAMINATION DEPARTMENT

Date : 5-JUN-2016

Reference: EXAM / SPADHI / BITIC / PATNA / BE-EE-SIXTH / SP/16 2015-2016

By the order of Examination committee, the following is the result of BE-EE - SIXTH Semester held in the month of MAY-2016

SESSION: 2015-2016 CLASS : BE-EE BRANCH ENGINEERING SEMESTER / TRIMESTER SIXTH MONTH OF EXAM MAY-2016 EE6201(3) EE6203(3) EE6205(4) MSH1117(3) EE6202(2) EE6208(2) EE6210(2) TOTAL CREDIT TOTAL ROLL NO NAME SGPA REMARKS POINTS CREDITS PT. GR. GR. GR. GR. GR. PT. GR. PT. PT. GR. PT. PT. PT. PT. GR. 24.0 15.0 B+ 21.0 A+ 18.0 Α C B+28.0 Α 16.0 Α 16.0 PRABHAT KUMAR VIDYARTHI BE/15133/13 138.0 19.0 7.26 27.0 B+ 21.0 A+B+28.0 A+27.0 A+18.0 Α 16.0 Α 16.0 BE/15144/13 AKANKSHA 153.0 19.0 8.05 27.0 18.0 18.0 18.0 A+ В B+ 28.0 B+ 21.0 A+ Α 16.0 A+ BE/15149/13 ANSHU 146.0 19.0 7.68 27.0 С 15.0 28.0 24.0 16.0 A+ B+ A+ 18.0 A+ 18.0 Α Α BE/15152/13 RAHUL KUMAR 146.0 19.0 7.68 27.0 B+ 21.0 27.0 18.0 14.0 A+ A+ 36.0 A+ A+ B+Α 16.0 \_ BE/15155/13 NAMITA KUMARI 159.0 19.0 8.37 21.0 B+ C 15.0 В 24.0 B+21.0 Α 16.0 B+14.0 Α 16.0 BE/15158/13 MD YASIR JILANI 127.0 19.0 6.68 24.0 B+21.0 32.0 18.0 Α Α A+ 27.0 A+ 18.0 A+ Α 16.0 BE/15160/13 PIYUSH KUMAR 156.0 19.0 8.21 24.0 B+ 21.0 32.0 27.0 18.0 16.0 18.0 Α Α A+ A+ Α A+ BE/15163/13 GARIMA KUMARI 156.0 19.0 8.21 24.0 Α В 18.0 В 24.0 24.0 A+ 18.0 16.0 Ex 20.0 Α Α \_ BE/15165/13 VISHAL KUMAR 144.0 19.0 7.58 24.0 21.0 28.0 Α B+ B+B+21.0 A+18.0 A+18.0 A+18.0 BE/15169/13 PAWAN KUMAR 148.0 19.0 7.79 Α 24.0 В 18.0 В 24.0 B+ 21.0 A+ 18.0 Α 16.0 Α 16.0

EE6201(3)	: CONTROL THEORY	-	
EE6203(3)	: POWER SYSTEM - II	-	
EE6205(4)	: INDUSTRIAL DRIVES & CONTROL	-	
MSH1117(3)	: FINANCIAL MANAGEMENT	-	
EE6202(2)	: CONTROL SYSTEM LAB	-	
EE6208(2)	: COMPUTER AIDED MACHINE DESIGN	-	
EE6210(2)	: ELECTRICAL WORKSHOP	-	

С

15.0

В

24.0

B+

21.0

B+

BE/15172/13

BE/15178/13

ABUL FAHAD

OM PRAKASH

S. Palle

19.0

19.0

7.21

6.68

137.0

127.0

Controller of Examinations

Disclaimer

21.0

A+

18.0

B+

14.0

B+

14.0

Disclaimer : Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card.

Original Grade card will be issued by the institute in due time.

## EXAMINATION DEPARTMENT

Reference: EXAM / SPADHI / BITIC / PATNA / BE-EE-SIXTH / SP/16 / 2015-2016

By the order of Examination committee, the following is the result of BE-EE - SIXTH Semester held in the month of MAY-2016

Date : 5-JUN-2016

SESSION	I : 2015-2016	BE-EI	Ξ		BRAN	ICH :	ENGIN	NEERING	ì				SEME	STER /	TRIME	STER	: SIX	ГН	МО	NTH OF EXAM	И : МА	Y-2016
ROLL NO	NAME		EE62	201(3)	EE6	203(3)	EE6	205(4)	MSH	1117(3)	EE6	202(2)	EE62	208(2)	EE62	210(2)	-		TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
BE/15185/13	RATNESH KUMAR	U L	A -	24.0	B+	21.0	A -	32.0	_ A	24.0	A+	18.0	B+	14.0	A -	16.0	-	-	149.0	19.0	7.84	-
BE/15192/13	SANDEEP KUMAR	U	B+	21.0	В	18.0	A	32.0	A	24.0	A	16.0	B+	14.0	В	12.0	-	-	137.0	19.0	7.21	-
DE 45105/12		U	- A	24.0	C	15.0	- B+	28.0	- B+	21.0	A	16.0	- B+	14.0	В	12.0	-	-	120.0	10.0	6.04	
BE/15197/13	SIMPI BHARTI	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	130.0	19.0	6.84	-
BE/15201/13	RAHUL KUMAR	U L	C -	15.0	D -	12.0	D -	16.0	C -	15.0	B+	14.0	B -	12.0	C _	10.0	-	-	94.0	19.0	4.95	-
BE/15215/13	GITANJALI KUMARI VERMA	U	Α	24.0	С	15.0	В	24.0	B+	21.0	B+	14.0	В	12.0	B+	14.0	-	-	124.0	19.0	6.53	-
BE/15216/13	ANSHU MANI	U	A+	27.0	A	24.0	A	32.0	A+	27.0	A+	18.0	Ex	20.0	A+	18.0	-	<u>-</u>	166.0	19.0	8.74	_
		L	-   .	-	-	-	-	-	-	-	-	-	-	-	-	-	-	<u>-</u>		1		
BE/15217/13	PALLAVI KUMARI	L	A -	24.0	В -	18.0	B+	28.0	B+	21.0	A+ -	18.0	- A	16.0	- A	16.0	-	- -	141.0	19.0	7.42	-
BE/15225/13	КНҮАТІ	U	A+	27.0	B+	21.0	Α	32.0	A	24.0	A+	18.0	A+	18.0	Α	16.0	-	_	156.0	19.0	8.21	-
DE // 5000 // 0	D. M. W.	U	- A	24.0	- C	15.0	- C	20.0	- В	18.0	- A	16.0	Ex	20.0	- A+	18.0	-	-	121.0	10.0	6.00	
BE/15228/13	RAHUL KUMAR	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	131.0	19.0	6.89	-
BE/15229/13	LAVANYA NIDHI	U L	A -	24.0	B+	21.0	B+	28.0	B+	21.0	- A	16.0	- A	16.0	A+	18.0	-	-	144.0	19.0	7.58	-
BE/15230/13	ANKIT MISHRA	U	В	18.0	С	15.0	С	20.0	B+	21.0	A	16.0	Α	16.0	B+	14.0	-	_	120.0	19.0	6.32	-
		L	-   A	- 24.0	- C	15.0	- B+	28.0	-	- 24.0	-	16.0	-	10.0	-	16.0	-	브				
BE/15235/13	SATYAM SHEKHAR	L	- A	24.0	- -	15.0	- B+	-	-	24.0	- -	16.0	A+ -	18.0	- -	-	-	-	141.0	19.0	7.42	-

 EE6201(3)
 : CONTROL THEORY

 EE6203(3)
 : POWER SYSTEM - II

 EE6205(4)
 : INDUSTRIAL DRIVES & CONTROL

 MSH1117(3)
 : FINANCIAL MANAGEMENT

 EE6202(2)
 : CONTROL SYSTEM LAB

 EE6208(2)
 : COMPUTER AIDED MACHINE DESIGN

 EE6210(2)
 : ELECTRICAL WORKSHOP

Controller of Examinations

Disclaimer

Disclaimer : Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Original Grade card will be issued by the institute in due time.

### EXAMINATION DEPARTMENT

Date : 5-JUN-2016

Reference: EXAM / SPADHI / BITIC / PATNA / BE-EE-SIXTH / SP/16 / 2015-2016

By the order of Examination committee, the following is the result of BE-EE - SIXTH Semester held in the month of MAY-2016

SESSION: 2015-2016 CLASS : BE-EE BRANCH ENGINEERING SEMESTER / TRIMESTER SIXTH MONTH OF EXAM MAY-2016 EE6201(3) EE6203(3) EE6205(4) MSH1117(3) EE6202(2) EE6208(2) EE6210(2) TOTAL CREDIT TOTAL SGPA ROLL NO NAME REMARKS POINTS **CREDITS** GR. PT. GR. GR. GR. GR. PT. GR. PT. PT. GR. PT. GR. PT. PT. PT. F 0.0 С 15.0 20.0 12.0 B+ 14.0 С 10.0 В 12.0 C D \_ BE/15236/13 ROHIT KUMAR 83.0 19.0 4.37 UNFAIR MEANS D 12.0 12.0 С 10.0 D D 16.0 C 15.0 B+14.0 В 12.0 BE/15237/13 SANJEET KUMAR CHOUDHARY 91.0 19.0 4.79 27.0 21.0 28.0 14.0 14.0 A+ B+B+Α 24.0 Α 16.0 B+B+ BE/15240/13 SWETA 144.0 19.0 7.58 27.0 18.0 24.0 24.0 16.0 A+ В В Α 16.0 A+ 18.0 Α Α -BE/15241/13 SHUBHAM 143.0 19.0 7.53 D 12.0 12.0 B+ 14.0 В 12.0 С 10.0 D D 16.0 В 18.0 BE/15242/13 GULSHAN KUMAR 94.0 19.0 4.95 27.0 A+В 18.0 Α 32.0 A+27.0 Α 16.0 Α 16.0 A+18.0 BE/15254/13 ADITI DAS 154.0 19.0 8.11 24.0 Α В 18.0 B+ 28.0 A+27.0 Α 16.0 Α 16.0 A+18.0 BE/15256/13 147.0 AMIT KUMAR 19.0 7.74 27.0 24.0 32.0 24.0 20.0 18.0 18.0 A+ Α Α Α Ex A+ A+BE/15257/13 PRANAV SAHAY 163.0 19.0 8.58 Α 24.0 С 15.0 В 24.0 B+ 21.0 B+ 14.0 A+ 18.0 16.0 Α BE/15262/13 RAHUL PATEL 132.0 19.0 6.95 27.0 A+B+21.0 B+ 28.0 Α 24.0 Α 16.0 A+18.0 A+18.0 BE/15264/13 ADITYA BELENKAR 152.0 19.0 8.00 27.0 A+ B+21.0 Α 32.0 Α 24.0 Α 16.0 Α 16.0 A+18.0 BE/15273/13 PAPPU KUMAR THAKUR 154.0 19.0 8.11 21.0 C 15.0 C 20.0 21.0 16.0 16.0 14.0 B+B+Α Α B+BE/15274/13 MANISH KUMAR 123.0 19.0

EE6201(3)	: CONTROL THEORY	-	:
EE6203(3)	: POWER SYSTEM - II	-	:
EE6205(4)	: INDUSTRIAL DRIVES & CONTROL	-	:
MSH1117(3)	: FINANCIAL MANAGEMENT	-	:
EE6202(2)	: CONTROL SYSTEM LAB	-	:
EE6208(2)	: COMPUTER AIDED MACHINE DESIGN	-	:
EE6210(2)	· ELECTRICAL WORKSHOP	-	

S. Pallet

Controller of Examinations

Disclaimer

Disclaimer : Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card.

Original Grade card will be issued by the institute in due time.

## EXAMINATION DEPARTMENT

Date : 5-JUN-2016

Reference: EXAM / SPADHI / BITIC / PATNA / BE-EE-SIXTH / SP/16 / 2015-2016

By the order of Examination committee, the following is the result of BE-EE - SIXTH Semester held in the month of MAY-2016

SESSION	: 2015-2016	CLASS : BE-EI	SS : BE-EE BRANCH : ENGINEERING									SEMESTER / TRIMESTER : SIXTH MONTH OF EXAM : MAY-2016							Y-2016			
ROLL NO	NAME	U	EE6	201(3)	EE62	203(3)		205(4)	MSH1	1117(3)	EE62	202(2)	EE62	208(2)	EE62	210(2)	-		TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
BE/15279/13	VICKY RAJ	U	С	15.0	D	12.0	С	20.0	В	18.0	B+	14.0	B+	14.0	В	12.0	-	-	105.0	19.0	5.53	_
BE/13279/13	VICKT KAJ	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	105.0	19.0	3.33	-
BE/15282/13	ZEESHAN ALI	U	В	18.0	С	15.0	F	0.0	B+	21.0	A	16.0	В	12.0	С	10.0	-	-	92.0	19.0	4.84	
BE/13282/13	ZEESHAN ALI	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	92.0	19.0	4.84	-
DE/15200/12	CATVAUT	U	A+	27.0	Α	24.0	A	32.0	A	24.0	A+	18.0	A+	18.0	A+	18.0	-	-	161.0	19.0	8.47	
BE/15309/13	SATYAJIT	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	161.0	19.0	8.47	-
DE/15212/12	DANTI KUMA DI	U	С	15.0	D	12.0	С	20.0	В	18.0	A	16.0	В	12.0	B+	14.0	-	-	107.0	10.0	5.62	
BE/15313/13	BANTI KUMARI		-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	107.0	19.0	5.63	-

 EE6201(3)
 : CONTROL THEORY
 :

 EE6203(3)
 : POWER SYSTEM - II
 :

 EE6205(4)
 : INDUSTRIAL DRIVES & CONTROL
 :

 MSH1117(3)
 : FINANCIAL MANAGEMENT
 :

 EE6202(2)
 : CONTROL SYSTEM LAB
 :

 EE6208(2)
 : COMPUTER AIDED MACHINE DESIGN
 :

 EE6210(2)
 : ELECTRICAL WORKSHOP
 :

Controller of Examinations

Disclaimer

Disclaimer

: Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Original Grade card will be issued by the institute in due time.